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General Instructions :

(i)
(ii)

(iii)

(iv)

v)

(vi)

(vii)

This question-paper contains five Sections — A, B, C, D and E.

Section — A contains questions 1 to 8 carrying one mark each. Answer to these

questions may be given in one word or a sentence.

Section — B contains questions 9 to 13 carrying three marks each, answers to these

questions may be in 50 to 75 words.

Section — C contains questions 14 to 19 carrying four marks each. Answers to these

questions may be in about 120 words.

Section — D contains questions 20 to 22 carrying five marks each. Answers to these

questions may be in about 150 words.

Section — E contains questions 23 to 25 carrying six marks each. Answer to these

questions may be in about 200 words.

There is no over-all-choice in the question paper, however an internal choice has
been provided in 3 questions of one mark, 2 questions of three marks, 2 questions of
four marks, 1 question of five marks and 1 question of six marks. You have to

attempt only one of the choices in such questions.

Qs ‘3’

Section — A

1. YA BIE qeh-iieh! T A By fesrslm o1 e g0 s & g au o+ 4 fesms=
HUS! % ITHA H TAN HA shl ASHT S8 | I8 Y AT UTeehi, ITINT Hl S et
T seen, gea-fafon fifa st o SR | Fofb e 9 |

IISHT o 3T TehR bl Tg=T-T f8 991 S <" it § 3194 Hi1e bl fesm TeM

qAT IGh] SATIhdT R 1 o foru faemfia sser aedt 2 | 1

Varsha Jain after completing her fashion designing course from Indian Institute of
Fashion Technology planned to enter into designer clothing venture. She had to
address issues like her target customers, channel of distribution to be used, pricing
policy etc. Identify the type of plan that Varsha Jain needs to develop to provide

direction and scope to her organization in the long run.
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I wfavfa wa fafme i€ < fopeel a1 foepmefia smit 1 Seor@ HifT |
A
o SR & “3TE R BT FT AL | 7

State any two ‘Developmental Functions’ of Securities and Exchange Board of India.
OR

What is meant by ‘Allocative Function’ of Financial Markets ?

ST ISR | 3UeTey T Y@ feesic “aefta’ 1 3T o & off | Jefifos W fafie
oot T TR 3T T AT SRS S fgesie HI IW HA w1 R forn | S 97 39
Giied < foTq 918 o TR W T8 a1 364 317 IcATGohi o [Seuie ¢ ST The] aelT qrT-4ed
firer <6t emar grseft fred-gord g9 @ o | 37a: 98 I8 foia 78 o Teht fop i
fesic s |

fermom <6 foreg 3 3l w1 A SaTsT freept s 3w feufa & fopan e 2 |

Beena has been using ‘Klean’, a famous detergent available in the market. On
watching numerous advertisements in the television, she decided to try a new brand of
detergent. When she went to the near-by store to purchase the same, she saw
detergents of other producers making similar claims of whiteness and stain removing

abilities. Hence she could not make up her mind as which detergent to purchase.

Name the objection of advertising being discussed in this case.

oo firey 5 Wep gees o w9 H wifaes foawor =61 31 G |
YT
T gere o1 w3 B 7

Give the meaning of ‘Physical Distribution’ as an element of Marketing Mix.
OR

What is meant by ‘Marketing Management’ ?
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Y Wik freeTyor s gAY ShifT |
YT

T’ I TRHATINT HIT |

Define ‘Workforce Analysis’.

OR

Define ‘Selection’.

I $fean fofies 1987 & wie] Suehwil & fmio e foaw & wom 2 | <feh wr
IS TUTET Il IUSHLUT <hT IcTE oL T & 37d: SR H e 37=a1 71 7 | fafsrdteo
1 T 1 o foTe 380 el o fmion, formy, foshar, g -T@me Sanatt qen des-ieh! Sa3T &
T STeTT-31er fawm 8 | i Pt o1 J=Te &1 9 T & AT UTEeh AT HiT i
T 8 37a: HE A o fore 2 fop wriener 3t Seed! 83 STERasharati sl QU &hid o oy
foremT w4 < TagT=a 1 eTIiea e 8AT |

Teg % IH T fAgT 1 Ieer@ hifeTT o Hrot Seerdt g3 STedl o fofe denfera
T wTEd 2 |

Appliances India Ltd. is engaged in manufacturing and distribution of home

appliances since 1987. It has a good name in the market as the company is producing
good quality appliances. It has separate departments for manufacturing, finance, sales,
maintenance services and technical services to achieve specialization.

Since the areas of operations of the company have increased and customers have
become more demanding, the company decided to modify the existing principle of
management to meet the changing requirements of the environment.

State the general principle of management which the company wants to modify to

meet the changing requirements.

forcfir aTemR form wepm foreftar wftemaferlt & qoa-@is ot ganes AT g ?

How does Financial Market facilitate ‘Price Discovery’ of financial assets ?
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AT 4 36 HEHH b =TI, % Tred 7 fafir= fowi o Hrdes td Sraehicr uraashat
o fore offe farvafaemer™ s | Afera gia faftiee & G dehrieh! fordT § |Tger gean |
Trafrd o Riwar of | et o A gEres faum | 366 Tt s favafoenem @ 9
SSHTITAT STdeh! ol Wl bt o TR fora |

eff % &I o T I TEETHT |

Biru Nandan, Chairman of Lalit group of companies founded ‘Biru University’ for
undergraduate and postgraduate courses in diverse disciplines. The Information
Technology department of the ‘Lalit Power Ltd., had few vacancies related to Cyber
Security. The Human Resource Department of the Company decided to recruit fresh
engineering graduates from ‘Biru University’ for the same. Identify the type of source
of recruitment.

Qus ‘«’

Section — B

AT BT Sh™ T TS FATH” A1 H TSR T Teh Thel AT & | 3Heh! 3EhT
T5d & TfGE 7 | 97 STSHHH I IcATEH aTsl gF H HIAT B TAT I5eh G IcATMEa SFHhRIT
fafir TehR & worad am Yendi # 3T & | I8 gHfead & o fore 7o ames v % e
UG AT I EE o 2GR 3evd Fuifa fohu & qen 39! & & wd §¢ 98
HAE |
FATE ! UETH T UEA I ATH 33 oh U1 3T STGH 7T oA TaT AT | IATIeh A1
T A & foTe 3T AnTdt § it TR 61 | 358 wefi-shuft forawor o <t =it off qen
ISR ST H T T T qga ureht off | qoar=q, I5eh! MeHshid <hl THT T2 T8 3R
3ok HROT TTATAT  STSIR | T ot fof | 38 379 STSIR 9T 31 8 791 S
% foru @ feam |
Tiff % vEm & R | fafire saed & forw 38 fafte wored % 4,000 tEEshim Y6t 6
JTY(l Teh o ST Teh i I ST ITH §T | I8 HTaa s o fofg foh vl wm o ot
Bl QAT AT <hT TIawor T0 T g1 38 31fafeh SRl bt e <t | 39 JohR 98 F0 W
ICATE AT IATSHHIT o Tohel ol Tty i H Tt 55, UL I IcUTe AT W |

wfeferfrt <t oot wta wHe ae weEt Y it % forg fe e et W Q@ R g,
i 3 31ge feran fop g T4 % Ueh HEvequl 981 shi 3TN SAH TEI S W R |

HidT g € 7 U ST aTet Yo 987 i TEATHT | /1Y € Teh ICTE hl HErdl |
34 EHTET |
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66/1/3 5 miy  P.T.O.
i



- 10.

1.

12.

66/1/3

Mita has a successful ice cream business at Bikaner, namely ‘Smartflavours’. Her ice
creams are utterly delicious. She makes ice creams from fresh milk and the same are
available in a wide range of flavours and packs. She sets viable business objectives
and works with the same in mind in order to ensure that the customers will come back
for purchasing.

Having the first mover advantage, her business was doing well. To earn higher profits,
she started cutting costs. This would sometimes lead to delay in delivery and the ice
cream was not reaching the market in time. Over a period of time, the demand for her
ice cream declined and because of it the competitors entered the market. She lost some
of her market share to competitors.

At the beginning of summer season, she got back to back orders for supply of 4,000
ice cream packs of different flavours for special occasions. To ensure that the task was
completed and orders delivered in time she hired additional workers. She was, thus
able to produce and deliver the ice cream packs but at a high production cost. While
completing activities and finishing the given task for achieving goals, Mita realized
that she was ignoring one of the important aspects of management.

Identify the aspects of management that has been ignored by Mita. Also explain the
same with the help of an example.

FR-TYLg qUT HHAN HTER” 1 R-foeia Shi % €9 H Ieor@ VT | I8
FHHATIAT i STIRT H8 HLd & ?

State ‘Job Enrichment’ and ‘Employee Participation’ as non-financial incentives. How
do they motivate employees ?

forcfiar werer o1 3790 T | 396 & 3639 o1 Soci@ I |
YAl
forcftar RIS o 7Ew o foheal i ferrg 3Tl w1 Seor@ I |
Give the meaning of Financial Management. State its main objective.

OR
State any three points of importance of financial planning.

T T&-4 T TS |” THSATST |

Al
“TheAT TH o SARHITA IUATT T TEf-ad & | 39 o o Hed H Ja- 1 avft forsiwarati it
FHell oh H1Y Gl iy qei firg i foh T8 Hen 2 |

‘Co-ordination is the essence of management.” Explain.

OR
‘Art is concerned with personal application of knowledge.” In the light of this
statement compare all the features of management with art and prove that it is an art.

6 G



13.  Afeqd STSIR <hl U8 91 39 ST H YIS shl ATEedehdIall Ud $<a1371 ol 9 &
e S i 3 adee s A P e g qe S e
TEE 8 St U4, et 99 qen sanfufa st genfe aftrfera 9, aemR 8 3ar | 33 ot
3G =] UM ATl TAT TR0 st &, ek 7g & | o 39 Il ohl T
gicRtrE & f Fmed 9 | 18 918 1 S § 3-8 §gd 3714 Y18, THY TF 9 T,
Hifeh I THA I T3 Teh S8 919 o o1 9 St Sfarra 3earel < foTw SrTEehar 3erE Y
Tehd & ifeh Seft off 37 Icarel <At skt o SR H 31vawd €l &1 Tehd | HET T IHh
SRITET ST TTOTTY fHeT qerm IedTel ht Wi Sl IE B TS | TTEeh] I SIS UHE ST a7 I
3G ) B T | 38 ARIh Yoo YT i hl Terg T8l off | ara-siay % qrer-any,
$Eh! TUTET h HRUT FSATS” SUE hl WG Teh FIABT-Sci1eh & AT | SUHITHT FHHI
TRINT A § 7T HEgE R 9 | 3
() & um feafres gra srufera foha S aret o yeree el o6t ugeaT |

(i) Wk el | Tehifsra T shaiat sl sTfeeT o oy Tmeey |

JTM Ltd. launched ‘Buddyline’, an exercise book and comprehensive stationery brand
name comprising of ball pens, gel pens and geometry boxes after identifying the target
market and understanding the needs and wants of the consumers of that market. All
their products were of good quality and eco-friendly but expensive. They wanted to
distinguish their products from that of their competitors. They spent lot of efforts, time
and money in creating the brand name, as they knew that without a brand name, they
can only create awareness for the generic products and can never be sure of the sale of
their products. The effort paid off and the demand for the products started growing.
The customers liked the brand and became habitual to it. They did not mind paying a
higher price. Over a period of time, it became a status symbol to buy ‘Buddyline’

brand because of its quality. The consumers felt pride in using them.
(1)  Identify the marketing management philosophy followed by JTM Ltd.

(1)) Explain the advantages of branding to the marketeers highlighted in the above

casc.

OR]0
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Qs g’

Section — C

Th ICUTE 1 7o 95 & HIehi & TN BT & | T Tohvel TR hIehi bl TWZTST |

YT
T gsiq Y IATe’ Ue IdTe IFuren § e 3w 9w stave i
(i) o feg
(i) T s fog
(i) &rYgq
(iv) @IS
Price of a product is influenced by many factors. Explain any four such factors.
OR

Distinguish between ‘Product’ and ‘Production’ concepts of marketing philosophies
on the following bases :

(1)  Starting Point ;

(i1)) Main Focus ;

(iii)) Means ;

(iv) Ends.

g O feafiee 3 amdes vd Tamfe -@rey® afeqdi o foawor @ foTe weh 721 3ush| SRy
fopa | 32H 38 YRR I |fserl & wfd SuieeT it wmefiekdrstt ® e % foe T
gaegur fopam | 324w T stfrekier Suviehr wfssmt I § Iy=nT fopw ST 9Tt TTae
@Al < 91 | faf~ia 8 | 38 9r o6 90% aiar s foeredi i @ § 8 | St |
ki g Gfesrart I <l ity st Feif e & fore iy frsivsii & v wqg @ gk
fopan 8 | 32 =g fofa foran o6 =8 Tawad faferll gro -1 afsmt s & fog
Hftyent =l gfvreror fezm S | oot 3 it waer qebefient o1 off gema fean fress wem |
Y TEATId H T Tt TR HE R |
I ITTTSE H JhTTIIT SATAHTIIeh TTERUT % G STRITHI shl T&=T(T U9 HHeNSy |

OR]0
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Mahinder Agro Ltd. started a new venture for distribution of harmful and chemical
fertilizers free vegetables. They conducted a survey to find out consumer preferences
for such vegetables.

They found that most of the consumers were concerned about the harmful chemicals
being used in growing the vegetables. They found that 90% of the households were
searching for its alternatives. The company contacted a group of agriculture experts to
lay down the procedure for growing the vegetables by the farmers. They decided to
train the farmers in new technology to grow chemical free vegetables according to new
innovative methods. The experts also suggested soil management techniques through
which farmers would be able to create an abundant and lasting harvest.

Identify and explain the two dimensions of business environment highlighted in the
above para.

16. um fafies wfaad ol & 7d & s aiftes Jerem HriH TR Sl 8 e 3=
Yerehig skl Afers il Ge13Tl I AT dd FTHAT Hid & foIu wferss & faveryor
Td yfersramft gRT 3Tt 9 o foTT A S | | AT TURTSTT BT SRRT hieh, e
1 QOIS oh ST 2 Fifeh o ETTSA ol AFIGRM Y&M i o [T ITRGRA 2ld & | URiar
fommst & wy foem-fomel %@ % yverd fowga GoFTE AR A ST E | e A6
SIERIAT ] T o foTT IR St ggare ot <l STt & | <o 218 weh siifges nfafafyr 8
i gfgum wogmais aun faaeryet fofm 61 smawewar 2t 2, 31 7% gera: 3=
Te G §FI <l ST @ | HHTRIG: WY HGR hae SIS ! TRt #d @ | 7ed
TR Ja-arehl i ASHTIST & forafera 89 o1 7 a1 3tfeshR gar 8 31 T & 3= 3ot 3t |
I3 1Y U h! AN BT & | I Ja-9 Ig HITad Hiar & fob Assti 1 a9 | gH
ATel S 3TH Iq AT b foTt =AmRrEa & |

I | Ffvid FRITeH 6 fepeel &1 wiwnati qen ol g1 fomivanati 1 Scr@ HIvT | 4

Mega Ltd. holds an Annual Management Programme every year in the month of
March in which the top managerial personnel formulate plans for the next year by
analyzing and predicting the future to meet future events effectively.

As they are responsible for providing direction to the organization, facts are
thoroughly checked using scientific calculations. Detailed plans are prepared after
discussion with professional experts. Preliminary investigations are also undertaken to
find out the viability of the plan. Since it is an intellectual activity requiring intelligent
imagination and sound judgement so it is mainly done by the top management.
Usually rest of the members just implement the plans. Middle level managers are
neither allowed to deviate from the plans nor are they permitted to act on their own.
The top management ensures that the expenses incurred in formulating the plans
justify the benefits derived from them.

State any two limitations and any two features of planning discussed above.

OR]0
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fomer fafies 3 feumeer yew = fyardt § footelt < skl o1 fmfor %@ qon goR &
STITIET <l geh! HATYfd i & fore weh fmfvft serts wenfud =i 8 | 3eT Scured @& ufd
THTE 500 TG o1 | Yawerent grT I8 Aol foram o 136 10 st a1 Icte fomem
HT BT | S THTE % 37d H IcdTe 450 TS o7 | 37Tl §H18 37T agant 470 e

B T | Teh UHTE UvETd 3T 460 S o1 | Sif9 ugdiel W ATd 537 o faeteht
it 3l % SR IATEH H IAX-T¢E &l &1 T |

(31) 3SHIH TG | T4 & Teh T shl UTshaT o Ho =01 hl =it bl T 7 | 3 =on
%I AT |
(&) @1 & 3 =n 1 ot Ieor@ HfT et == ITRe ST i TR HI T 8 |

Vinber Ltd. set up a manufacturing unit at Bhiwadi in Himachal Pradesh to
manufacture electric geysers and supply them to dealers all over the country. Their
production target was 500 geysers per week. It was decided by the management that

variation in production upto 10 units would be acceptable.

At the end of the first week, the production was 450 geysers. The next week,
production increased to 470 geysers. A week later, production was 460 geysers. On
investigation, it was found that fluctuation in production was due to irregular supply of

electricity.

(a) The above para discusses some of the steps in the process of one of the functions

of management. Explain these steps.

(b) Also, state the step(s) that have not been discussed in the above para.

ForhgrareRtor 1 T 31 7 7 ToRel Eed T fqehieu o HE™ W YT e aTel
feeell o formgatt o1 Seor@ Ffw |
YAl
SO, TS T 31 QT | ok fohal oI @1 %1 Ieeh ShiTT |
What is meant by ‘Decentralisation’ ? State any three points that highlight the
importance of decentralization in an organization.
OR

Give the meaning of ‘Formal Organisation’. State it’s any three advantages.

" =



20.

19. i TaErE glevfd ISR 3 Teh FEmmes & €9 3 %R tal € | 98 Th W@ Fad 9

o HT & &l gfeyfe b wlier o s S @ | 78 fafEmenatent w fafam qen
o fraer % 31aEt v et 7 | fafres qun ga:fres it 38wtk % arem |, Sl
T IcdTeeh o veri # wvrd forer Sian @ | 78 gifeaa o & for fop e sean
SR 8 gAidrd va fsuet o -<F o Heh, IR ISR shi Tt 318 & d b &1 st
2 31 3k oF -3 1 foemm iR gf % STHER geadierd &9 & wftfyad fera ST 2 |
I8 u ft =t fafafia teh, 37=8 IR SIaerii 9T S sl (et o 9 o firfaa @
T T SheH hl ISToRL Ferega T B giead ohiar ¢ |

IR IATedE § Wieh Taereial gRI duTed Tfi=T st b1 9ol foham 7 8 | 3wt
 UfRT <l 34T L §U Wieh TFI=S o fohrgl = ShIAT T AU HIIT |

Stock exchange acts as a regulator of the securities market. It creates a continuous
market where the securities are bought and sold. It gives investors the chance to
disinvest and reinvest. Through this process of disinvestment and reinvestment,
savings get channelized into their most productive investment avenues. To ensure that
the investing public gets a safe and fair deal in the market, the membership of the
stock exchange is well regulated and its dealings are well defined according to the
existing legal framework. It also ensures wider share of ownership by regulating new
issues, better trading practices and taking effective steps in educating the public about
investments.

Various functions performed by the Stock Exchange are discussed in the above para.
By quoting lines from the above para, state any four functions of stock exchange.

.@.Ug :aa
Section — D

A § dieds! IAX-TGd 95d &l A= a7 37 BT & | I8 AR forselt o Suhtvn i
TS, ThISREX G TR-HEITE hl Joha TgaTet JTTREIG: 3! qUl &9 & afamre
feufa o oiedl 8 | W-TE S 9 IOl YR % U SET dleest IdR-<ere i €
220 diee B 230 e o o9 8, LIASTH S bl 0T T | e Tsh a1 IT0 IR <6
HIT b1 G K fem =, IR g o forer {6 via & o1 &1 0 oft diees 3arR-veE
I JTETIHAT Bl U B & T 90 dee & 260 dlee Toh & ReHEAY Dl TR H
IAT ST | W b Sferor, afvem 9 qaf &t < fore offF srfvemansti 6t fgfea i 18 it
T AT 8 H aleest 3Ter- e o | FEiy guft sTirmansti ol RaegsE o i % fae
Torger e T T Afehe Woh &1 § GEY &1 o IcTg W Twer of |

(31) TA-TITE HFT o HISATcH &M< ohl TE=HT |
(F) IHIe ATede H Tg=H 7Y el o feohedl &1 ol qe1 g1 Hi13i ol Seoi@ shifvT |
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Voltage fluctuations have been common and quite high in India. They harm our
electrical appliances like televisions, refrigerators and air conditioners, often leaving
them in a permanently damaged condition. N-Guard Company decided to manufacture
stabilizers for North India where the voltage fluctuation ranges from 220 V to 230 V.
Once the demand for North India was taken care of, they decided to launch stabilizers
of varying voltages from 90 V — 260 V for meeting the requirements of voltage
fluctuations in other regions of India also. Three engineers were appointed for South,
West and East regions of India, as the voltage was different in all the three regions.
Though all the engineers were appointed to manufacture stabilizers but the product
differed from region to region.

(a) Identify the organisational structure of N-Guard Company.

(b) State any two advantages and two limitations of the structure identified in the

above para.

ram ot weh uftrg Tmsiet St 6 Tet 311 Tellae Afdes § e THie Yaeesh & &9
T R o T oft | IHh Bl H - frawor qam e, wdl, qrierfies we St deHd
Torspfira heaT T IR o f¥1e10T <Rl Glaemses ST Aftferd o | IR 379 HIT
% T 1312901 o6 ToT T o |1 Tesed b g 9 | SE -9 % ek | 31fyes St
B W Y H T I8 TS AT 319 BT Bl T YUl i & AT il b
Treqor &7 o foru feres aEn 4 o fafaanfora e e oft |

fopgl ua famgatl & g1 Ieoi@ hIfE fob o8 forfam fope g wTad & foig
AT BT |

Nisha Sethi was working as a Human Resource Manager in a famous consultancy
firm, KLI Global Services. Her job included preparing job descriptions, recruitment,
developing compensation and incentive plans and facilitating employee learning. They
had entered into alliances with institutes to ensure continuous learning of their
employees. With the jobs becoming more and more complex, KLI Global Services
invested large amount of money in making the employees learn the skills necessary to

complete the jobs.

State by giving any five points, how this investment is likely to benefit the

organisation ?

66/1/3 12 )
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22. Sk Teey shi ffetfad den-iehl ol THESY
’ (31) TR 1A, 9
() &g A 5
YT
TUFTST T3 Ta-er o fgT b JehR Jaereht shl TETdT Shid & :
() asies folg o 4, qen
(i) SS=Erehi =l aTEdfereh STTTa <ht itfefoRn o1 3Tt 9 JeH S o |
Explain the following techniques of scientific management :
(a) Motion Study ; and
(b) Time Study ;
OR
Explain how principles of management help the managers :
(1) in taking scientific decisions ; and

(i) in providing the managers with useful insights into real world situations.

s I’

Section — E

; 23, 9199, T HEUl SUNIHT T3 2 | $H SuNIR3t & foru feeeft /g aaem & &
femmart o wEi H Rl ST o6, fowr o —
SAfereh @TE — Wd T I deh’, difh SAfeh Tdl & Hawd o SR H SNTEehdl hells ST Hob
AT IUTTFATSTT ! RN W BIgeht [SHH TETE T ShieTeTeh S ifeid &, Sifeieh @l
1 3T IR foran <11 &k | Tohe™ THgr | fomivst Serernati +f @il § shiedTehl o =1ah
T T Sifereh @TeT < HEwd i THATET | Al ! gl foran mn fob wre fafia &9 9
AT Y ST BT & qTfeh WY g3t 31era hierereht shi Iuferfa StEf fetraet =t gg=m
ST ek | A | Tl Icarel shi uradt o SR H Sl Sci= i o T adei <
i B gt wifire afieRt et SerE § wehifira fopan AT § | 9w SuMieRTST
T wg e o fofe et wd it |etre Wi ggH i @ |

IR 31T O URhAT I d g UM < fadi o TEw 9 Hae & forg

S arE’ g fsufea fohe ST amet st o Ieer@ HIfT | 6
66/1/3 13 %ﬂﬁ‘% P.T.O.




24.

66/1/3 14 %@!ﬁlﬂg

‘VOICE’ is an important consumer organization. It organized workshops in the
months of December in Delhi/NCR for consumers. The theme was ‘Organic Food —
From Farm to Plate’, to spread awareness on the importance of organic farming and to
encourage consumers to switch from conventional food, that contains chemicals and
pesticides to organic food. Expert speakers from farmers’ community explained the
harmful effects of usage of pesticides in farming and the importance of organic food.
People were informed that the organization regularly tests samples to detect
adulteration like presence of heavy metals or pesticides. The results of the tests are
published in their monthly magazine ‘Consumer Voice’ to make people aware of
quality of different products. It also provides aid and legal advice to the consumers in
seeking a remedy.

State the functions performed by the Consumer Voice for the protection and

promotion of consumer interest by quoting lines from the above para.

wam fifg, R TeweaE % g yemaiis Ak B | T8 sHidmesa el i T
fmioft et 2 | ST o1 SRRl @ 8 e Wbl § W Sl Rl Uk A1 Sgied
fopar STaT & S 3cuted, ford, fauvm we ae Heree | e tetTesig i il s
AHE H 8 | hR@H ¥ 950 o 90d 9 95d § TR NeMR i atE Sefl g3 off fomeht
S IcTeT Yarwereh a0 T 1 off | I ° STl YeuTd & | a99-89T W
Jegehi T IR < S TTeTabarial &l Sl off | THEsti ol SIH | T@d §U %0 91
3 foemm fig it ffea 6t @ awafas srRi-ve & @y ™ w0 7 gemai
Je-eehi o TN i SHEATIAT Teh TgdT 1 14 TN b1 TIHa AT | Femm frg = ot st
T fietet 38 ST <l Tme fob Jeyr 9o =TEd 8 7 3ok UvETd 98 shHania d fien 3k
378 Ja-Hehi o fI=Rl & 31ad foharm | 35 =ttt o1 o I8 steared fean 3 g 3eh!
THSIS ¥ Je-4hi 1 A HUTT | 36 YR I8 Yo-4ehl Td HEATT o o=
TR o1 G R | 38 STk Hawgl st ¥t g feRan ST avt shreime fof 6 wh
HEM oh 3T HHATIAT I A § T &l 71 | Ta-4 G 36k 1 bl Tl fieft 37K
38 1 TrouTeH o ToTu e | 10% g o E1e Teh THT01-93 féarm i |
(i) Temm R g 3B Mt w1 e fhan = S 38 ug & fore fremfea fepe S
3mevIeh o For W 98 R @ AT | T A Ui BRI 1 Ieoi@ Hife feh
Torsuree <hr 3rvem femy fig & <1 < Tkt 2 |

(i) Tramm fag = fou mu stiirepi o am SRy |
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Pratap Singh is the Chief Executive Officer of Nissar Enterprises. It is an automobile
parts manufacturing company. The enterprise has a functional structure, in which jobs
of similar nature have been grouped together as Production, Finance, Marketing and
Human Resource. Nissar Enterprises has its manufacturing unit at Manesar. The
factory has been plagued with many problems for a long time which was in the
knowledge of the Production Manager, Varun Sharma. The workers had internal
differences. Time and again, there were misunderstandings between the management
and the workers. Keeping the problems in mind, Varun Sharma appointed, Siyaram
Singh who had 14 years of experience of working with the actual work force and
passing on instructions of the middle management to the workers.
Siyaram Singh met Varun Sharma to understand what the management wanted ?
Thereafter he met the workers and conveyed the ideas of management to them. He also
promised the workers to convey their problems to the management. In this way, he
cleared the misunderstanding between the management and the workers.
He also sorted out internal differences and was able to unite the workers within a
month of his joining. His work was acknowledged by management and he was given a
certificate of good performance along with 10% increase in salary.
(1) Siyaram Singh performed some of the functions which are required to be
performed at the position he is working at. State any five other functions

Siyaram Singh is expected to perform.

(1)) Name the incentives provided to Siyaram Singh.

T 3T 1 poT Goft AT 1 Frafeer qen fecfa Sifem fafi Rt w fk wrar R
o feregl ®: SHEhI I THATST |

Al
39 e e it fmioft et o o gererss 2 | U8 fohdl ©: SRepl o1 ausse S
ST ShT TR St STTavehdtat 1 fuRn S I 3 e ° w6 |

‘Determining the overall cost of capital and the financial risk of the enterprise depends
upon various factors.” Explain any six such factors.

OR
You are the Finance Manager of a newly established manufacturing company. Explain
any six factors that you will consider while determining the fixed capital requirements
of the company.
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